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# ‘WorksFor
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# Job:bozzBetterPaidThararker
# Job:acyclicwiorksFor
# Job:payPositive
# Job:inCompany
E 9§ Pre-Postcondtions
pre hire::parameterzDefined
pre hire:jobLinkMotExistent
piozt hire::jobLinkExistent
pozst hire::pavintialized
pre worksFor: parameterzDefined
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pozt zetPay:: payModified
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Result:
2000 : Integer Clear
B Evaluate X|
Enter QCL expression: Evaluate
bob job pay-=sum) |
Browzer
Re=ult: :
~ =, £000:integer Clear — -
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hire(anEmploves . Perzon, aPay | Integer)
worksFor(aworker | Person, aBoss ;. Perzon)
zetPayianEmploves | Perzon, aPay : Integer)
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workerPlus() : Set(Jok)
workerPlusAuxiaSet | Set(Jok)) - SetfJok)
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